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1. M & $Td B ¥ AT o 9T § 2 1. How can soil erosion be measured ?

(A) T (A) Visual
(B) INIR® (B) Physical
(GERISIRIRED (C) Chemical
(D) SWa &l (D) All of the above
2. Tl BT Hed fhdadT Af<aq aRoT § 7 2. Gully erosion is an advance stage of :
(A) Rel Red (A) Rill erosion
(B) Bic el (B) Splash erosion
(C) dIX dC[@ (C) Sheet erosion
(D) d1g AuWREH (D) Wind erosion
3. ¥l JWREA & U 3. Soil erosionisa:
(A) T TR DI Glehan (A) Three-stage process
(B) TI TRV BT Ufeha (B) Two-stage process
(C) UM TROT BT Yfeham (C) Five-stage process
(D) Suga H A Bl el (D) None of the above
4. S | 99 RN s © 4.  Bentch terracing is necessary in soil :
(A) 1% <Id (A) 1% slope
(B) 5% @Il (B) 5% slope
(C) 16-33% oTdl (C) 16-33% slope
(D) 50% @Il (D) 50% slope
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a9l @1 431 BT I A ABR ¢
(A) 5 .

(B) 3 fAH.

(C) 4 7.

(D) 7 f.

(A) Ul & 9SG ddl § W
(B) UEl & UG ddl W XfRd
(©) (A) 3R (B) T

(D) STda # & Big AL

qyarE AR M & JHAH B VA
foroId gIRT @Y S Fehell © ?

(A) TR T

(B) e wHIaRY

(©) (A) 3R (B) T

(D) ST T

I H Berd Bl b HI Gad D]

e ©

(A) T I

(B) #iiag Hga=
(C) &9 RRAT

(D) SUYa H A Bl 7l

SSAC-5005
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The most common size of raindrop is :
(A) 5mm

(B) 3mm

(C) 4mm

(D) 7mm

Eroded soils are :

(A) Richin plant nutrients
(B) Devoid of plant nutrients
(C) Both (A)and (B)

(D) None of the above

Runoff and soil loss can be calculated by :

(A) Ramser’s formula
(B) Chepil’s equation
(C) Both (A)and (B)

(D) All of the above

Best means of arresting erosion in

watershed area is :

(A) Contour bunding

(B) Graded bunding

(C) Bentch terracing

(D) None of the above

Set-B



9. Wil &xv Bl 3R 5 M | A § ? 9. Natural erosion is also called as :

(A) Aeg-fAfdT exor (A) Man-made erosion

(B) TIRT &R (B) Accelerated erosion
(C) YJ=d &Rl (C) Geological erosion

(D) Elg‘%ﬂ &R0 (D) Artificial erosion

10. IYaiE ®I fh¥d §RT Fg AT QR oI 10. Runoff can be increased several folds

AT & ? by:

(A) TR @ I518 (A) Stone clearing
(B) IR (B) Smoothing
(C) 9HY"q (C) Compaction
(D) SUgad JHI (D) Al of the above

1. FHfdRad § 4 $F-91 Ja1 &R0 @ 11.  Which of the following is not a cause of

Y soil erosion ?

(A) e (A) Drainage

(B) I @I Belg (B) Deforestation

(C) 3y (C) Weathering

(D) SUYa H A Bl 7l (D) None of the above
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12. BIF-GT BRP R 3R FReR SR 12. What factor creates temporary and

e 80 continuous waterlogging ?

(A) TG D BRI STATH B (A) Submergence due to floods
(B) Tole JIe G § (B) Flat topography

(C) 3P qTT (C) Impervious obstruction
(D) 3rAR® a9 (D) Excessive rains

13, B Y A SN HuH e Red 13. Central Research Institute of Dryland

3. Agriculture is located at :
(A) FER H (A) Kanpur

(B) SR H (B) Jabalpur

(C) SER (C) Jodhpur

(D) TEREE # (D) Hyderabad

14, f=foReg & 9 59 &Ny & 9 14.  Which of the following erosion can be

W ERT Y W BeraT o G § 2 easily removed by normal tillage ?
(A) el ®era (A) Gully erosion

(B) i &cl (B) Sheet erosion

(C) Rd e (C) Rill erosion

(D) SUYa H A Bl 7l (D) None of the above
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15. B9 SR BT b Udh Thd 8 ? 15.  How can we prevent waterlogging ?

(A) W o WRE IR Sder o (A) Improve soil structure and drainage
PR NS W T T through cultivation

(B) SOl g HNAT H Ul IR (B) Grow plants in raised beds

(C) BRI I R U B aH R faaR (C) Consider planting trees on a slight
e mound

(D) SUgad JHI (D) All of the above

16. 3IWRed @I yfhar § fdagd grT et &l 16. In the process of erosion, the removal of

e BEETT & - materials by solution is called :
(A) FEYo (A) Attrition
(B) ST (B) Corrosion
(C) ftfT (C) Sapping
(D) SUYa H § I Tl (D) None of the above
17. ®eld YRR w9d 8 /8 17.  Erosion resisting crop(s) is/are :
(A) 9N (A) Grasses
(B) wier (B) Legumes
(C) 3 (C) Cereals
(D) (A) 3R (B) I (D) Both (A) and (B)
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18.

19.

20.

T RV AR Wb R

T feraT ST el |
(A) fds wE
(B) 3TTOT UM B
(C) & qui

(D) SWE & W B &

919 3RS &Id: e BROT Bl & ?
(A) T TIof &l

(B) ®H IIAVSHIY 3MTadl
(C) T AR fafeor

(D) Suga Wl

a9 & PRU HSHI goTdl H WS &
e f5ad gRT e a1 S @ 2
(A) e oeE

(B) Rdl 3Red

(C) TTell 3TqRE

(D) SWad # | BIS T

SSAC-5005
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18.

19.

20.

Soil conservation can best be achieved by

(A)  Wind screens

(B) Good plant covers
Low rainfall

(©)

None of the above

(D)

Wind erosion is mainly due to :
(A) A strong wind regime

(B) Low atmospheric humidity
(©)

High solar radiation

(D) All of the above

Soil erosion in plains consequent to rain-

fall is initiated by :

(A) Sheet erosion

(B) Rill erosion

(C) Gully erosion

(D) None of the above
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21. M Tl & for Sugd Y H FoA I

22.

23.

24,

Calite:
(A) T
(B) TR
©€) ®:

(D) 38

WRA H USell IR Tol gaT RV AJHYM

fore Y g% ga ?

(A) 1923
(B) 1935
(C) 1974

(D) STda # & Big AL
ST e

(A) T B &R BT 97T ¢ |
(B) BT ® &RV P §QIdT & |

(C) U & &ROT B HH P 3 |
(D) SWYad # | BIg T2

73T AREA F G Hbad o -
(A) o B FeE

(B) 3NIH TRd

(C) TR

(D) SWad # | BIS T

SSAC-5005
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21.

22.

23.

24,

Total number of classes in the group, land

suitable for cultivation is :

(A) Two
(B) Four
(C) Six

(D) Eight

The first recorded Soil Conservation

Research in India started in which year ?

(A) 1923
(B) 1935
(C) 1974
(D) None of the above

Soil compaction :
(A) Increases water erosion.
(B) Increases wind erosion.

(C) Decreases water erosion.

(D) None of the above

Main indicator of soil erosion is :

(A) Deforestation
(B) Ozone layer
(C) Afforestation

(D) None of the above
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25. qul, 9B Il AT IR DI yuerRdl wfd 25. The erosive power of rainfall, running

T T - water or wind is called :
(A) &cla (A) Erosivity

(B) 3Udre (B) Runoff

(C)  &ROTIeAdT (C) Erodibility

(D) SW@ ¥ ¥ I T (D) None of the above

26. O] NS & BN fedt @ PIF-T 26. Which soil particle settles at distant

: laces due to water erosion ?
U X WM R 99 AT 2 2 P

(A) T (A) Gravel
(B) I} (B) Sand
(C) < (C) Silt

(D) w (el (D) Clay

27. TfafEd # ¥ BIF-91 a1 ERelv IUN 27.  Which of the following soil conservation

g measure is the most popular in India ?
(A) T R (A) Bentch terracing

(B) X e (B) Contour bunding

(C) dR Ry (C) Contour strip

(D) SUYa H A Bl 7l (D) None of the above
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28.

29.

30.

31.

SSAC-5005

AM W B il el & JeEd W
UEell T fhad gRT faar 737 ?

(A) T

(B) H{Iq

(C) Rme

(D) S F ¥ B T

TR &RV I B¥a gRT AT o el & 2
(A) VIRER qIRY

(B) W IS

(C) TRIIU

(D) ST T

AAe-MAT Re J& wu 4 fhde
HROT BT © °

(A) U R

(B) TAT 3R TR

(C) U 3iR &aT

(D) Y IR AT

Ul W WL (R ewar @) 8 fh T W
qHdT g ?
(A)
(B) e
(C)
(D) el

(11)

28.

29.

30.

31.

The first relationship on soil loss to slope
length was given by :

(A) Zeng

(B) Musgrave

(C) Smith

(D) None of the above

Soil erosion can be prevented by :
(A) Heavy rains

(B) Overgrazing

(C) Afforestation

(D) All of the above

Man-made erosion is primarily caused by :

(A) Water and men
(B) Wind and animals
(C) Water and wind

(D) Animals and men

LCC (Land Capability Class) 8 is denoted
by which color ?

(A) Green

(B) Yellow

(C) Red

(D) Blue
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32.

33.

34.

35.

SSAC-5005

A GeH DUl B WG fhdd DR
Bl & ?

(A) SBA-HT TH

(B) Wc® I

(C) A BT IR

(D) S F ¥ I T

Bl Y &3 AT HRIE FEl W
Rerd & ?

(A) STHR

(B) IS

(C) VIR

(D) dHR

g R UM S @ eRT H A
foe wfierd &1 InTeE FRd § ?

(A) 50%

(B) 70%

(C) 80%

(D) 60%

frafofed % @ o9-91 g1 & Fed @
U% R © 7

(A) B9

(B) feted

(C) WA NI

(D) ST W

(12)

32.

33.

34.

35.

Erosion of very fine particles is seen on
account of :

(A) Saltation

(B) Surface creep

(C) Shifting of dunes

(D) None of the above

Central Arid Zone Research Institute is
located at :

(A) Jodhpur

(B) Nasik

(C) Jaipur

(D) Bikaner

Wind and water almost contribute what
percentage of soil degradation ?

(A) 50%
(B) 70%
(C) 80%
(D) 60%

Which of the following is a stage of wind

erosion ?

(A) Saltation
(B) Suspension
(C) Surface creep

(D) All of the above
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36. < HND Y &RV P Y9IfAd e @ 36. Two factors directly influence the erosion :

(A) YA 3R 3T (A) Temperature and humidity

(B) 3fmadr 3R AR fafd=or (B) Humidity and solar radiation
(C) dIUHM 3R &aT BT I (C) Temperature and wind velocity
(D) Tyt 3fR &A1 BT q7 (D) Precipitation and wind velocity

37. BIC TR & ford faaRoT auTd &R 37. Delivery ratio for small watersheds will

be :
(A) @H (A) Less
(B) 3fd® (B) More
(C) (A) 3R (B) T (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
38. WIGIGR Tl HeT WREVT @I UF yA@en 38, Terracing is an effective method of soil
Yy - conservation in :
(A) ORI &7 (A) Desert areas
(B) e &7 # (B) Plains
(C) TSl &7 ¥ (C) Hilly areas
(D) SUYa H § I Tl (D) None of the above
39. fa=foRed & @ fow fcdt oF o ex1 39, Which of the following soil separates has
B e 3y & 7 more erodability ?
(A) Xd (A) Sand
(B) e (B) Silt
€) el (@) (C) Clay
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5005 (13) Set-B



40. Wit wer  ®M WEGRw 40,

T=oR & vat Ta. AL 0) H, G &
(A) TREME Yae fohamg
(B) WU Yde fopamy
(C) a1 e fopag

(D) SWE # W B &

41. = XGRT el AT BEan § 41,

(A) ey
(B) frs &M
(C) B Ta=m

(D) SWad # | BIg T2

42. T9 &9 ¥ dTexeIS BT 6T § /8 42.

(A) F&I W& 3R 9% FRET & foR
RN

(B) UM @ USMR 9e™ & forw 3

(©) (A) IR (B) <

(D) SWad # | BIS T

SSAC-5005 (14)

In universal soil loss equation (A = RKL

SCP),Pis:

(A)

(B)

(©)

(D)

Pasture management practices

Crop management practices

Soil conservation practices

None of the above

Maps having contour lines are known

as:

(A)

(B)

(©)

(D)

Toposheets

Grid map

Contour map

None of the above

Managing watershed in forest area is/are :

(A)

(B)

(©)

(D)

Practices for soil protection and

flood control

Practices for increasing water yield

Both (A) and (B)

None of the above
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43. U1 9L TH. WA Tl g 4L o1 geaey 43,

fRerd & :

(A) eI H
(B) MR H
(C) fowell ®

(D) ®FYR F

44, ICRIE IH & Y UCH ¢ : 44.

(A) T TR
(B) T a® ¥ fiRm@e
(C) v

(D) Suda Wl

45. 9ICRIS Y9gT H WYa M 3R gRae 45,

g
(A) g
(B) Wiellg T
(©) vy
(D) SHIE W

46. el @1 He fGas SR BT & ? 46.

(A) TOl A IEIBR]

(B) Ul F1 Pk

(C) VMR gRT RS TS
(D) ST W

SSAC-5005 (15)

Headquarters of NBSSLUP is situated at :

(A)
(B)
(©)
(D)

Dehradun
Nagpur
Delhi

Kanpur

The basic components of watershed cycle

are .

(A)
(B)
(®)
(D)

The

Stem flow
Thorough fall
Precipitation

All of the above

terms and definitions used

watershed management are :

(A)
(B)
(©)
(D)

Albedo

Alluvial fans

Alluvium

All of the above

Soil erosion is caused due to :

(A)
(B)
(©)
(D)

Rapid urbanization
Cutting of trees
Overgrazing by animals

All of the above

in
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47.

48.

49,

50.

SSAC-5005

HTId B AFAM < dTell o 8 /8 -
(A)  HIDT

B) T

(C) TR

(D) Suda Wl

R gX Hded WY BT Ao
fRer 2

(A) EeXEE H

(B) I H

(C) TEvIgd
(D) ficen #

M e afeReT I H A e

@ el TET B :

(A A
(B) 3G
(C) 9

(D) w:

qINe B 48 BT THA H I GHI
AHTH JTa 5 BIoT TR BT ?

(A) 45°
(B) 30°
(C) 90°
(D) 180°

(16)

47.

48.

49.

50.

Erosion permitting crop(s) is/are :
(A) Maize

(B) Wheat

(C) Bajra

(D) All of the above

Headquarters of Indian Institute of

Remote Sensing is situated at :

(A) Hyderabad

(B) Ranchi

(C) Dehradun

(D) Delhi

Total number of land capability classes in
the land capability classification scheme
IS :

(A) Nine

(B) Eight

(C) Seven

(D) Six

The maximum impact of the raindrop will

be at what angle when it hits the ground ?

(A) 45°
(B) 30°
(C) 90°
(D) 180°
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51. fy=faRad & ¥ o9-91 Sl aResT &7 51.  Which one of the following is the first

Jord TR & ? stage of water erosion ?
(A) Rel Iwed (A) Rill erosion
(B) diic ®cH™ (B) Sheet erosion
© YT EROT (C) Splash erosion
(D) SWE ¥ | FIg el (D) None of the above
52. &I ARG (R H¥al ¢ : 52. Rate of soil erosion depends on :
(A) a9 B faar R (A) Intensity of rainfall
(B) el & g W (B) Slope of soil
(C) ¥aI 3R T & YBR W (C) Type of soil and vegetation
(D) Sugad Fl (D) All of the above
53. CSWCRTI @I U1 e a9 gg off ? 53.  CSWCRTI was established in which year ?
(A) 1974 (A) 1974
(B) 1958 (B) 1958
(C) 1985 (C) 1985
(D) Suga H A Bl el (D) None of the above
54. W&l (WS DI [bdd gRI G fhar off 54.  Soil erosion can be reduced by :
[T § 7
(A) 1T SR (A) Making dams
(B) 3IIRE TS Bl HH PR (B) Reducing overgrazing
(C) Sfd BIERSRIC (C) Planting proper plants
(D) Sugad FI (D) All of the above

SSAC-5005 (17) Set-B



55. Wlol 3TRe 2l § : 55. Water erosionisa:

(A) Td TE Bl Uihal (A) One-way process
(B) T TRE @I Ufshar (B) Two-way process
(C) UM R &I ufshar (C) Three-way process
(D) SWa &l (D) All of the above

56. 9 3WGT & IR W&l & G @I 56. The highest movement of soil particles

Tt TR frged HRI B 2 during wind erosion is due to :
(A) e (A) Suspension

(B) Ty (B) Saltation

(C) \de AT (C) Surface creep

(D) Suga H A Bl Tl (D) None of the above

57. 9Rd & g ¥RT | S Herd o AT 57.  Which part of India has more erosion

37 problems ?

(A) BTN 9Rd (A) North India

(B) TR-Yd WRd (B) North-East India
(C) Tfer WRa (C) South India

(D) #H&T 9Rd (D) Central India

SSAC-5005 (18) Set-B



58.

59.

60.

SSAC-5005

3UdTE 9 Il 8 O

(A) 9 @ R (@) arediero F AR
gl

®) W @ R gl ¥ A |

(€) arefavr gale W i |

(D) SWE & W B &l

M e e AT H TV, VISR
VIl fae o Sugd & ?

(A) Tl B

(B) TRIE 3R T3
(©) (A) 3R (B) <

(D) SWad # | BIg T2

T B Hels BT SR BT © -
(A) T IR

(B) HgW

(C) @ 3¢ T

(D) Sugad Wl

(19)

58.

59.

60.

Runoff takes place when :

(A) Rate of precipitation (P) is more

than evaporation.

(B) Rate of P is greater than infiltration.

(C) Evaporation is greater than

infiltration.

(D) None of the above

Inland capability classification schemes

the classes V, VI and VI are suitable for :

(A) Cultivation

(B) Pasture and grazing

(C) Both (A)and (B)

(D) None of the above

Deforestation causes :

(A) Soil erosion
(B) Pollution
(C) No floods

(D) All of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § grfd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
fuiRa WM & aremar =9 @8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) R
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e fd & SW wendt vy FRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADT & 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

U & f2val U9 Sl wurRer § AT 89 @l
T H YT BT U WURYT & A BT |

HEAYU
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| EAYRADT Fiel W YA G 9% o o
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